Cosinus regel: a2  =  b2 ​+ c2 – 2bccos α
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Gebruik de stelling van Pythagoras in driehoek ADC (1) en in driehoek BCD (2). 

1.  b2 = e2 + h2  

2.  a2  = (c – e)2 + h2 = c2 – 2ec + e2 + h2  
Nu volgt dat a2  =  b2 ​+ c2 – 2ec (3)

Geef cosinus 
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A (4)

4.  cos α = 
[image: image3.wmf]b

e

  dus e = b cos α

Dit invullen in (3) geeft a2  =  b2 ​+ c2 – 2bccos α
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